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full marks for the questions.

Answer any five questions.

1. (a) What is the need for Process Control ?
' Explain its benefits to the Process

Industry. 5
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(b) Consider the mixing process in which
a stream of solution containing
dissolved salt flows at a constant
volumetric flow rate ‘g’ into a tank of
constant hold up volume ‘V’. The
concentration of the salt in the entering
stream ‘¢’ (mass of salt/volume) varies
with time. It is desired to determine
the transfer function relating the outlet

3

concentration ‘y’ to the inlet
concentration x. 10
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